80150 FAZEE#=R M8x1 HHRIBUBINIFRHKAFAE

7= miiEA

M

NFE : BH,

B4 PUR (4 4 PVC) .
WIBBAL PP (44 PVC),
s AR,
BEME:Au(E).

PEEE . EHEHES.

A
HE(BE),
NEHR . B,
HAHG . Bf,

BR
H RGN EREES,
S F B R,
RIEH @A DIN 47100 #HITHLIRIC
. B A, BEEEHEISEEER 0.4 Nm.
for electrics R EERR AT I, RAEEA B,

BRSE :
KB EE - =100,

1558
3EE
186

158
2B
3EE
4186

1A&
2176
3IGE
1EE
5e
R AR=)
7IER
84t

© norelem www.norelem.com



80150 HEERER Mex1 HHARIHNIFRBANE

210
M8x1
|
|
|
|
|
|
|
|
|
|
|
i
D1

|
7 i
e
> , |
N f -
1
:
M8x1
210
80150-010X2000 35 A EFERE 2000 | 4,1 |32 3 x 0,25 mm? IP65/IP67 50 AC /60 DC 1500
80150-010X5000 3% A BFERE 5000 | 4,1 |32 3 x 0,25 mm? IP65/IP67 50 AC/60DC 1500
80150-011X3000 4 4t A BEFERE 3000 | 4,8 |32 4 x 0,25 mm? IP65/IP67 50 AC/60DC 1500
80150-011X5000 4 &t A BEHE 5000 | 4,8 |32 4 x 0,25 mm? IP65/IP67 50 AC/60DC 1500
80150-012X3000 8 &t A BEFERE 3000 | 5,5 |34 8 x 0,14 mm? IP65/IP67 30AC/30DC 800
80150-012X5000 8 &t A EFERE 5000 | 5,534 8 x 0,14 mm? IP65/IP67 30 AC/30DC 800
80150-030X2000 35 B | HiflXE 2000 | 4,125 3 x 0,25 mm? IP65/IP67 50 AC/60DC 1500
80150-030X5000 3%t B | HiflNE 5000 | 4,1 |25 3x 0,25 mm? IP65/IP67 50 AC/60DC 1500
80150-031X3000 4 &t B | MIRIXFE 3000 | 4,8 |25 4 x 0,25 mm? IP65/IP67 50 AC /60 DC 1500
80150-031X5000 4 4 B | HiflXE 5000 | 4,8 |25 4 x 0,25 mm? IP65/IP67 50 AC/60DC 1500
80150-032X3000 8 &t B | MIRIXWE 3000 | 55|24 8 x 0,14 mm? IP65/IP67 30 AC/30DC 800
80150-032X5000 8 &t B | HiflXE 5000 | 55|24 8 x 0,14 mm? IP65/IP67 30 AC/30DC 800
80150-010X2000 4 79 3 300 AC 2500 AC >10x D1
80150-010X5000 4 79 3 300 AC 2500 AC 210 x D1
80150-011X3000 4 79 3 300 AC 2000 AC >10x D1
80150-011X5000 4 79 3 300 AC 2000 AC =10 x D1
80150-012X3000 1,5 78 3 300 AC 3000 AC =10 x D1
80150-012X5000 1,5 78 3 300 AC 3000 AC >10 x D1
80150-030X2000 4 79 3 300 AC 2500 AC =10 x D1
80150-030X5000 4 79 3 300 AC 2500 AC >10x D1
80150-031X3000 4 79 3 300 AC 2000 AC =10 x D1
80150-031X5000 4 79 3 300 AC 2000 AC 210 x D1
80150-032X3000 1,5 78 3 300 AC 3000 AC >10x D1
80150-032X5000 1,5 78 3 300 AC 3000 AC =10 x D1

© norelem www.norelem.com



80150 FAZEE#=R M8x1 HHRIBUBINIFRHKAFAE

80150-010X2000 =25 x D1 10000000 (25 °C) -25°C-+80°C -40°C-+80°C - =8
80150-010X5000 25 x D1 10000000 (25 °C) -25°C-+80°C -40°C-+80°C - p=t:x)
80150-011X3000 25 x D1 2000000 (25 °C) -5°C-+80°C -30°C-+80°C - &
80150-011X5000 =5 x D1 2000000 (25 °C) -5°C-+80°C -30°C-+80°C - &
80150-012X3000 26 x D1 2000000 (25 °C) -15°C-+80°C -30°C-+80°C - a
80150-012X5000 26 x D1 2000000 (25 °C) -15°C-+80°C -30°C-+80°C - &
80150-030X2000 25 x D1 10000000 (25 °C) -25°C-+80°C -40°C-+80°C - p=t:x)
80150-030X5000 25 x D1 10000000 (25 °C) -25°C-+80°C -40°C-+80°C - ZH
80150-031X3000 =5 x D1 2000000 (25 °C) -5°C-+80°C -30°C-+80°C - &
80150-031X5000 25 x D1 2000000 (25 °C) -5°C-+80°C -30°C-+80°C - &
80150-032X3000 26 x D1 2000000 (25 °C) -15°C-+80°C -30°C-+80°C - &
80150-032X5000 26 x D1 2000000 (25 °C) -15°C-+80°C -30°C-+80°C - &

© norelem www.norelem.com




